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GENERAL DRAWING NOTES

1. Do not scale off this drawing.  All dimensions are in millimeters
unless otherwise stated.
2. This drawing is to be read in conjunction with all relevant
Architectural, Interior, Civil, Structural and Service Engineer's drawings
and specifications.
3. The contents of this drawing remains the intellectual property of
Beth McDougall and must not be reproduced or altered
without the permission of the copyright holder.
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DW DISHWASHER

ELECTRIC FUSE BOARDF/B

G/B GAS BOILER

W WATER TANK

W/M WATER METER

ADDITIONAL INFORMATION
1. 889mm access to/egress from the premises

3.

4.

Number of guests occupying
each bedroom:

Maximum occupancy of
the property = 2  (excluding
children under 10 years old)

Bedroom 2 = 2

Red line highlights the internal walls
of the premises and GIA.
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